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Question ID : 98958011879
Status : Answered
Chosen Option : 2

Q.9
1

Frafaf@a @« 7 @ Fiaa @ TR T § gaog 272

Ans xm TﬁFI-F

X 2. graT
v 3 e
X o Feda

Question ID : 98958011906
Status : Answered
Chosen Option : 3

QO Prrafafem # & Rgr e wehe w1 R e (@) S T R w ¥
Ans X 1. ofegrer e

X 2 FETET T
X 3. garfery T
W 4 TSETET ERTAT

Question ID : 98958011858
Status : Answered
Chosen Option : 2

Qfﬂﬂ?ﬁﬂﬂ@ﬁgﬁﬁaﬁaﬁ&rﬁgﬁmﬁ%#aﬁﬁaﬁﬁﬂ:ﬁ? &= foamr &

Ans

Ans X 1150

X 2175

V3195

X 4. 200

Question ID : 98958011892
Status : Answered
Chosen Option : 3

Q2 SrET T fefr aftmTg W 39T B




< 13182

< 2.3861
v 3 2861
X 4 2181
Question ID : 98958011874
Status : Not Answered
Chosen Option : --
Q.9 T giafted R Tl v F w9 O, & wF fiecle, Tfte o @, o= Fpex ik

5 s o T F BT s e sal
Ane o1 oferes geEe
X 2 Jogle FFps

XK 5. FMEA & Tl
X 4. ggA SRl
Question ID : 98958011894
Status : Not Answered
Chosen Option : --
% F Forrear Ry AT $T TS T4
Ans X 1. 1756
< 2. 1765
v 31772
X 41727
Question ID : 98958011880
Status : Answered
Chosen Option : 3
Yefr ¥ IR ww d
Ans x 1 m_&ﬁ_
X 2 o
X 3. 3T
v g T

Question ID : 98958011871
Status : Answered
Chosen Option : 4

2 Sy e APERET ¥ TR b
A X 1. greeRE ST & grefdar




X 2 wgfera Rerw

V5 UE F Fea ¥ TS &

X 4 FF-JrooT

Question ID : 98958011872
Status : Answered
Chosen Option : 3

%9 s ae5 Retsw & argar, 2011 & g & wew seiv #fw fvefofea & & siw @ a2

Ans x 1 ﬁ

X 2 froaTer fawafa d=eeay Afex

X o RfEfETs a7l

v 4 B gEeTaTERTEY AT

Question ID : 98958011859
Status : Answered
Chosen Option : 2

% STH S Tme & AW { g FT Waa WEW FE U FT §?

A X1 s
X 2 sitgxfem
X o arehrer
v $fE

Question ID : 98958011884
Status : Answered
Chosen Option : 4

01

Ans X 1. 3770
X 2. 3540
V5 3660
X 4. 3580

Vs ames N0 Hge By AF 2% S swagwm e w7 &

Question ID : 98958012217
Status : Answered
Chosen Option : 3

Q1 v 7= U @ F W @ § F 2.7 m 3§ 3R 30T F0T 30° §| TH F 7= H gy &

02 (y3 = 173):

Ans of 1 468 m
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X 2453 m
X3 463 m
X4442 m

Question ID : 98958012248
Status : Answered
Chosen Option : 1

%31 FfE freist #r wEl &1 9= 8 gmicm® & & 35 cm Fe 3R 14 om T oy o fReist &

IAT AT H
Ans X 1. 166 kg
X 2.177.44 kg
/< 3160 kg
o 2 172.48 kg

Question ID : 98958012235
Status : Answered
Chosen Option : 4

Q1 5w A, 4 52 # T FF 5 T ¢ 3T GET T B Wy v §| G MY v @y 22 w2 F @
04 =y s §1 B9 F1 sy 5 BT 3057 B F FraaT TET T

Ans x1. BE 'EI%.'

Question ID : 98958012230
Status : Answered
Chosen Option : 2

% 2124 T fhaar wfaerd 249.60 2T &2
Ans X116

v'2 40

X3 123

X 4. 250

Question ID : 98958012220
Status : Answered
Chosen Option : 2

U afx 10% 9 @, sndaiie-waisE, 15 a9 & Tk @ 12,522 ¥ A e AR &

Ans X 1.220,000




~< 2.218,500
« 3 216,000
2 4.315,400

Question ID : 98958012226
Status : Answered
Chosen Option : 3

At 1125 a8
X225 a9
X3 ay
X4 gag

o 8% HIURUT &1 W e U fhae wag & awger greie

Question ID : 98958012225
Status : Answered
Chosen Option : 1

Ans el

(g; 3 m HST A TSR FIE A5 B 38 U 90T T ABHT NS qrar = gl e H 5

10

1.-— M
X135
V2= m
Wz
X3 2V3 m
X432 m
Question ID : 98958012244
Status : Answered
Chosen Option : 2
Q1 14-6x2
09 ERIEES %"
15343
Ans x 1. 2
. 4
X2t
3
1
Vs -
4
X 4 6=
Question ID : 98958012212
Status : Answered
Chosen Option : 3
Q.1




f&ar ar g5 (barchart), dF ast & v Teeaneft o goies vy & wea v aT s # aehar &

2008 2010 W2012

few a7 g5-=E (bar-chart) #, 2008 F ForeT ¥ 2012 F, AW F I # frew sfoew I g7 (i
)

Ans X192
X2 95
X 3100
V4 89

Question ID : 98958012250
Status : Answered
Chosen Option : 4

Q1 wx 77 3 9 & U ¥F o7 gFar ¢ T v NwE 5 9 # & @l w0 g 1 ofy a9 s e
" (ST T &7 W) F g o G A § & EF s # e #Ry e

Ans (143 'EI%.'

Question ID : 98958012229
Status : Answered
Chosen Option : 2

% I Scosh -12sing = 0 ¥, ar 2 o7 o &

cosd —sing
Ans 75
K11 —
119
34
X2
35
2
X3 32
3

1
v 2 3;

Question ID : 98958012245
Status : Answered
Chosen Option : 4

Q1 3z 0 T v IeF & AT BT g P ¥ i 9 2 TRt t@d PA 3 PB § A 3R B 379 W g
13 ¥ afx LOAB = 35° ¥, o ,APB awe T




Ans of 1 T0°
X 2 25°
X 3. 35°
X 4 20°

Question ID : 98958012242
Status : Answered
Chosen Option : 1

14 wad:

Ans X 1720 m
X2 675 m
V5 760 m
X 4630 m

Q1 e reEmEr 76 km/h F TR ¥ Torr 1 ofY T 36 95 F v OF F 9K G &, o e &

Question ID : 98958012231
Status : Answered
Chosen Option : 3

C1!51 @7 (line graph), @191 9@ F 91 AR F S9AR FBogEr

16

1 1t P R P PO LI

Ol QIO M RO R A RO R

Ist 2nd 3rd ath
{@an  EoR EoN dEan

— Ha§ —— Y —— fedr

Ans X»I

- 21

X213
X 3172
w472

few av W= (line graph) #, gEt e & Rwer 3R Ha & §= AHE F AT F4T AP

Question ID : 98958012257
Status : Answered
Chosen Option : 4

Ans x1
X2

X 3.
v

- 61
- 51
49
59

Q1 s T & oI F Ted AW H 13,481 I RUI T3 OIF o FET F o/ T F e O g
16 $r Far & ot & gew ¥

[ Question ID : 98958012208




Status : Answered
Chosen Option : 4

Q1 v FHaR F o, G F sewTT FOT 60° N W, T F Iewdiel HIT 45° P T AT F AR
7 e 4 omw @ 15m o T S ¥ e B S
Ans X' 1. 415 m

K2 265 m

X<3205m

v 4 355 m

Question ID : 98958012247
Status : Answered
Chosen Option : 3

Q.1 fegr T/ g5 (bar-chart), di =t # T fagzredt gAT yede faww #F gra T AT AT g &
18

W2008 ®2010 W2012

T v E8-a1¢ (bar-chart) &, IfE a¥ 2012 & wAfom sreaga & 31 &1 @@
TaeaerT 7 wEw # 13% ¢, o femtiat fr g &

Ans o 1. 500
X 2 580
X 3. 540
X 4400

Question ID : 98958012251
Status : Answered
Chosen Option : 1

Q1 d= FERR A B3 C, 3:4 17 & gud & o 3 afy wen & §1 3% 30% & ot & g
19 o8 77 =17 21,10,166 & 27 &7 & 912 B ¥ EW T o1 7T L7

Ans X 1.324,673.10
X 2. 231,476
X 3.79,442.80
W 4 322,033.20

Question ID : 98958012224
Status : Answered
Chosen Option : 4

Q1
20




i
oo

34
32
30
28
26
24
22
20
18
16
14
12
10

8

&

a

2

]

— uaE

12

189 P

8

5

"‘-1:1_

pav
T T

Ist 2nd 3rd ath

I[aaN  I[EON TEaR IEaR

— Yews — Teell

Ans %
X2
V3
x4

- I TeER
g aEw
- gge Jaar
- =ty AR

X@r-f7 (line graph), &= o2 & IR AR F IO Fr 2T §

faw 1T X@r-RT (line graph) &, Reeh 7 =7 3faw aaA= F9 oa1?

Question ID : 98958012255
Status : Answered
Chosen Option : 3

Ans (1

X3

X2

F

12
24
16
20

T (24+6-2)+@Bx2+4)WWRE

Question ID : 98958012213
Status : Answered
Chosen Option : 1

(;-21 fgTr T g5 (pie-chart), A ZERT 6 HT H TR FT AT & F AT 2

10 T Lo

mist T
E2nd T
m3d T
math T
wsth 39
mgth I

Ans x1
X2

T a7 gea-ae (pie-chart) &, Tl #9 F TAC T F F AT FAT 82 (IH A)
- 85
- 88




2390
v 84

Question ID : 98958012252
Status : Answered
Chosen Option : 4

2

Ans X4 7
X25
Vs 2
<418

Q-; ofE (2x—5)%+ (x+2)°+ Bx—9)* = (2x—5)(3x — 9) 3x+6) &, A x T AT FAT EM?

Question ID : 98958012238
Status : Answered
Chosen Option : 3

Ans 3
1. —

x 12
X2~

p =,

vl

Q1 A v & # 12 & F = GHar § AT B 3@ w1 18 RFT F T wHbar 21 5 7 @ v @y
24 = ¥ TR, BaaT T 9 I SO

Question ID : 98958012227
Status : Answered
Chosen Option : 4

Ans X 1.34.8
X2 329
v': 359
X 4337

2; 21 ¥ 50 & @ Tl 3= FEAHT 1 AW ¥ (TH qeFeT FEA F Ui M):

Question ID : 98958012215
Status : Answered
Chosen Option : 3

26 g o
A . .
" x1.1§=a-a

Q1 afy ve garg T 35 TAwe # 980 km #r gl 77 v &, O IF 1470 km F g FW T F e

CHANNEL)



? -
3. — EICT
8

}(4.1% o

Question ID : 98958012232
Status : Answered
Chosen Option : 3

U T 45789, TH 3F o FE-dr TEAr ¥ Rurew ¥

A 1 FFE 3 W

XK2Faa 33rowd

K FTeT 9 F

Xigga3dik7@

Question ID : 98958012209
Status : Answered
Chosen Option : 1

3;;1 sin18°- cos72° s{I&ay %:
Ans x11

X2 2

V30

. 1

X 4 &

Question ID : 98958012246
Status : Answered
Chosen Option : 3

% Steere # sfEfda 2 &

Ans X 1. 2.56

V2 256

< 3 0.256

X4 256

Question ID : 98958012219
Status : Answered
Chosen Option : 2

QA1
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fgar s/ Feq-=E (pie-chart), A Z@RT 6 FT # TR FU 0 & F 2T

AT T Lo

it g
®2nd 3
m3rd B
math B
m5th T
msth BT

few s gea-aE (pie-chart) #, #T 2 & FoT H AT 4 F WR F Frae I W w2
Ans X1 B0

K2 +27

X3 27

v 4 +B0

Question ID : 98958012253
Status : Answered
Chosen Option : 4

%-11 7 m FETE, 5 m e AT 3.5 m FE I aTAeR FAY 9 9 Sa A il a9 a7 aawe
AT FL|

A 184 m2
X2 168 m?
K3 42 m?
X4 126 m?

Question ID : 98958012233
Status : Answered
Chosen Option : 1

Q1 7 ¥ ve AFTT AT A 54 m 52 v 95 1 TR 9 m A ¥ IR 3@ wAT v @ B wor
32 BEsmadtar Ty A S L

Ans X 1.72 m
<299 m
X363m
v+i81m

Question ID : 98958012223
Status : Answered
Chosen Option : 4

g; A, 3T HTT #r 12% TR 99 e §) AfE 97 22,16,128 TH FIA §, A 50 $A 3T &
Ans X 1. 32,43,560
X 23242 063
V2 32,45,600




< 4 32,48,000

Question ID : 98958012221
Status : Answered
Chosen Option : 3

4y A R aEEt B G ST TEaT 37
Ans X112

<2 32

Vs 40

X4 24

Ql 1M S T s AT E R A T T AR T30 ecmx 25 cmx 12 ecm &

Question ID : 98958012234
Status : Not Answered
Chosen Option : --

35

AT AT T

W 1st ﬁﬂ
H2nd Tig
mid A9
= ath 89
msth A9
-Ethﬁﬂ

Ans X 1.91.2
v'2 897
X3 845
X4 934

Q.1 &I T4 gea-E (pie-chart), A ZAWT 6 HT H THR T 710 = F g2ar #

fgT 70 gea-ae (pie-chart) H, T A & FT 4 T AT 6 F UTF I AT A 3HF HwF TR Fra
a2

Question ID : 98958012254
Status : Answered
Chosen Option : 4

36 paC T i

Q.1 ABCD vs = o ¢ S AB 5§ W a1 Jea @1 T 0T ¢ AR FI0T ADC = 142° F & @ior

ans X 1. 50°

X 2 40°

X3 60°

W 4 520

Question ID : 98958012241
Status : Answered
Chosen Option : 4

QA1




f&@r ar g5 (barchart), dF ast & v Teganeft o gedw vy & oo v aw e w5 e &

80
70

W2008 ®W2010 W 2012

f&T 1T Z2-= (bar-chart) ﬁ,a&zmoﬁﬁmﬁwﬁmmmmg@

e ¥ grafee faee
v 2 3y
X3 e
X 4 o

Question ID : 98958012249
Status : Answered
Chosen Option : 2

?;;1 A, B 3R C v fig ¥ U WY ToT F FI | 39 FEH FAU: 42 cm, 56 cm AR 64 cm
¥ 7gaAaH Trad gt 57 Sy A 9% & weAr S e Ui a@r?

Ans X 1.15.60 m
X< 214,06 m
X 31458 m
v 41344 m

Question ID : 98958012211
Status : Not Answered
Chosen Option : --

Q1 g FEmst & ® @ (HCF) 3l & & (LCM) &7 surawer 3321 31 afy dwmat & & v 369 &, ar
39 ggamit = @ ® (HCF) &

Ans X 1. 27
X23
X321
V9

Question ID : 98958012210
Status : Answered
Chosen Option : 4

Q1
40




@R (line graph), &9 = # IR T9ER F TOAA Fr w2

34
= P 57
38 B g
2 2
22 =3 = 7
0
is 83 18
16 16
i =
lg 10
6
4
2
o T T T
Ist 2nd 3rd 4th
IMagrw  I@arw @R IEan
— @ TS Red

2w a1 [T (line graph) #, 3 R & @i 7 @@ F g A= F=w oar?

(FoH ZHEAT H qoliferd)
Ans X1 94

X2 254

V3197

X423

Question ID : 98958012256
Status : Not Answered
Chosen Option : --

Q.1

Ans X 1. 42
X2 52
Vs 26
X4 38

 TEa®— b* =208 @M a-b =8, A (a+b)2—ab ITET &

Question ID : 98958012240
Status : Not Answered
Chosen Option : --

Q1 A3 B v w1\ Fr 30 Rt @ T AR §1 B # C 3 FA A 24 oA F @ wHT § AR A
42 i ¢ TR o FE A 40 RE # 9@ A w1 IR O o 9w AR @ I e

T H T gHT aeen?

A K110 fem
v 20 fe=
X35 e
X415 fea

Question ID : 98958012228
Status : Not Answered
Chosen Option : --

P %— =Hy2 %‘,T—ﬁ'xz+$ T &

x

Ans




X 1. 56
X2 52
V'3 20
X 4 46

Question ID : 98958012239
Status : Not Answered
Chosen Option : --

Q.1 A, & 354.50/kg FT =T & 38 kg =aeT, 262/kg HT 2T F 45 kg Tae A 248/kg HT ET F 55 kg ==e

44 ghy| sEa T F RAOT T 265/kg FT T § &7 AT SEF A 3T F & wiewd

Ans X 1.1.7 gifer
<2 16.8 9TH

X 3.1.04 grfr
v 1196 M

Question ID : 98958012222
Status : Not Answered
Chosen Option : --

3; TF FACG TGS F aEhd 338 mz%mﬁsuﬁréﬁémmﬁ@;ﬁ%ﬁmm%:

Ans X 1.14
<2 28
v 13
X 4 26

Question ID : 98958012237
Status : Not Answered
Chosen Option : --

32 oy 4 SR F AT TEw 3 FEE F BFET qpg F TS § A e s gt % (Ffee)

Ans x1. 16%%
V2 332 %
3

X3 20%
X4 25%

Question ID : 98958012218
Status : Not Answered
Chosen Option : --

Q1

Ans X 1. 3486 cm?3

v UF UT FT Tdg &TF 1176 cm? §, IF ST& 309 &7 71 &




< 23964 cm®
V'3 2744 cm?
X 4 3206 cm®

Question ID : 98958012236
Status : Not Answered
Chosen Option : --

e K111 em?
X210 cm?
V'35 12 em?
X4 9 cm?

(:; mmz@a@ﬁaawsancm%aﬁtsmiﬁ'Qﬁfﬁw cm ¢ ST ST6A ¢

Question ID : 98958012243
Status : Not Answered
Chosen Option : --

49 Srh ¥, aw o & s L
Ans X' 1.128.5 cm
X 21127 cm
<3.122.3 cm
v+ 1156 cm

Q1 v w5 12 o Fr AwF FEE 1325 cm P TR w IR o gEA & S Awa FE 1312 em @

Question ID : 98958012216
Status : Not Answered
Chosen Option : --

Ans o 1. 925
X 2 956
X 3 975
X 4904

%51 T TEN S 38 ¥ THTEE i T oW 24 3R 9wwe 13 ueg @Y §, o e E

Question ID : 98958012214
Status : Not Answered
Chosen Option : --

Ans X 1. exile

/< 2. export

%-11 Select the most appropriate word for the given group of words.

to send back a criminal or an unwanted person to the country of his/her origin.




/< 3. excavate
W 4 extradite

Question ID : 98958011592
Status : Answered
Chosen Option : 3

%’21 Select the antonym of the given word.

THREATEN
Ans x 1. coax

/< 2. criticize

/< 3. compete

v 4 commend

Question ID : 98958011580
Status : Answered
Chosen Option : 4

Q.1 A
53 Select the synonym of the given word.
ENIGMATIC
Ans X 1. resolute
X 2 purgative
W 2 mysterious
/< 4. inquisitive
Question ID : 98958011574
Status : Answered
Chosen Option : 3
Q.1 =
54 Select the antonym of the given word.
RECOVERED
Ans X1 last
X 2. latest
X 3 leased
W 4 lost

Question ID : 98958011578
Status : Answered
Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
55 substitute it, select No substitution required.

I sometimes pass a delivery man wheeling a large handcart of JTapanese food. The cart bears a striking message:
‘Creating a world where everyone believes in their own authenticity.”

Ans
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X1

Been created a world where everyone believes in their own authenticity

X 2

Created a world where everyone believes in their own authenticity

X 3

Creating a world whereas everyone believes in their own authenticity

' 4 No substitution required

Question ID : 98958011558
Status : Answered
Chosen Option : 4

Q1 Select the synonym of the given word.

56
EXASPERATING
Ans o 1. frustrating
/< 2. exalting
/< 3. saddening
/< 4. exhausting

Question ID : 98958011577
Status : Answered
Chosen Option : 4

Q'1 " - L . -
5, Select the most appropriate meaning of the given idiom.

be the Devil’s advocate

Ans o 1. to present a counter argument just for the sake of it

/< 2. to present an argument in favor of a well-known evil man
/< 3. to represent the devil as an advocate in witch trials

/< 4. to represent an accused in a murder trial

Question ID : 98958011585
Status : Answered
Chosen Option : 2

Comprehension:




Read the following passage and answer the questions given after it.

Sedentary lifestyles are killing us — we need to build activity into
our everyday lives, not just leave it for the gym. Google searches
relating to physical fitness peak in January. Many people even
trawl the web to find out about “desk exercises™ and “workouts on
the go” in case they are too busy to use their new gym
memberships.

Our relationship with exercise is complicated. Reports from the UK
and the US show it is something we persistently struggle with. As
the new year rolls around, we anticipate having the drive to behave
differently and become regular exercisers, even in the knowledge
that we will probably fail to do so. Why do we want to exercise?
What do we expect it to do for us? We all know we are supposed to
be exercising, but hundreds of millions of us can’t face actually
doing it. It is just possible that the problem lies at the heart of the
idea of exercise itself.

Exercise is movement of the muscles and limbs for a specific
outcome, usually to enhance physical fitness. As such, for most of
us, it is an optional addition to the working day — yet another item
on a long list of responsibilities alongside the fulfilment of parental
duties or earning money to put food on the table. But because the
principal beneficiaries of exercises are we ourselves, it is one of the
easiest chores to shirk. At the end of the working day, millions of
us prefer to indulge in sedentary leisure activities instead of what
we all think is good for us: a workout.

Fitness crazes are like diets: if any of them worked, there wouldn’t
be so many. CrossFit, the intensely physical, communal workout
incorporating free weights, squats, pull-ups and so forth, is still less
than 20 years old. Spin classes — vigorous group workouts on
stationary bikes — have only been around for about 30. Aerobics
was a craze about a decade before that, although many of its high-
energy routines had already been around for a while. Before that,
there was the jogging revolution, which began in the US in the
early 1960s. The Joggers Manual, published in 1963 by the Oregon
Heart Foundation, was a leaflet of about 200 words that sought to
address the postwar panic about sedentary lifestyles by
encouraging an accessible form of physical activity, explaining that
“jogging is a bit more than a walk™. The jogging boom took a few
years to get traction, hitting its stride in the mid- to late-80s, but it
remains one of the most popular forms of exercise, now also in
groups.

The exercise craze that dominated the 1950s was, oddly, not even
an exercise. The vibrating exercise belt promised users could
achieve effortless weight loss by having their midriffs violently
jiggled. It didn’t work, but you can still find similar machines
available for purchase today.

SubQuestion No : 158

%‘81 %y_do most people make exercise their last
priority?




Ans . The main beneficiaries of exercise are people
themselves.

It is an added responsibility besides looking after the
- family.

/< 3. They prefer to indulge in sedentary leisure activities.

/< 4. Tt does not help in earning their livelihood.

Question ID : 98958011599
Status : Answered
Chosen Option : 2

Comprehension:




Read the following passage and answer the questions given after it.

Sedentary lifestyles are killing us — we need to build activity into
our everyday lives, not just leave it for the gym. Google searches
relating to physical fitness peak in January. Many people even
trawl the web to find out about “desk exercises™ and “workouts on
the go” in case they are too busy to use their new gym
memberships.

Our relationship with exercise is complicated. Reports from the UK
and the US show it is something we persistently struggle with. As
the new year rolls around, we anticipate having the drive to behave
differently and become regular exercisers, even in the knowledge
that we will probably fail to do so. Why do we want to exercise?
What do we expect it to do for us? We all know we are supposed to
be exercising, but hundreds of millions of us can’t face actually
doing it. It is just possible that the problem lies at the heart of the
idea of exercise itself.

Exercise is movement of the muscles and limbs for a specific
outcome, usually to enhance physical fitness. As such, for most of
us, it is an optional addition to the working day — yet another item
on a long list of responsibilities alongside the fulfilment of parental
duties or earning money to put food on the table. But because the
principal beneficiaries of exercises are we ourselves, it is one of the
easiest chores to shirk. At the end of the working day, millions of
us prefer to indulge in sedentary leisure activities instead of what
we all think is good for us: a workout.

Fitness crazes are like diets: if any of them worked, there wouldn’t
be so many. CrossFit, the intensely physical, communal workout
incorporating free weights, squats, pull-ups and so forth, is still less
than 20 years old. Spin classes — vigorous group workouts on
stationary bikes — have only been around for about 30. Aerobics
was a craze about a decade before that, although many of its high-
energy routines had already been around for a while. Before that,
there was the jogging revolution, which began in the US in the
early 1960s. The Joggers Manual, published in 1963 by the Oregon
Heart Foundation, was a leaflet of about 200 words that sought to
address the postwar panic about sedentary lifestyles by
encouraging an accessible form of physical activity, explaining that
“jogging is a bit more than a walk™. The jogging boom took a few
years to get traction, hitting its stride in the mid- to late-80s, but it
remains one of the most popular forms of exercise, now also in
groups.

The exercise craze that dominated the 1950s was, oddly, not even
an exercise. The vibrating exercise belt promised users could
achieve effortless weight loss by having their midriffs violently
jiggled. It didn’t work, but you can still find similar machines
available for purchase today.

SubQuestion No : 159

%g Which of the following does not classify as an
exercise?
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Ans 1. Workouts on stationary bikes
« 2. Using midriff vibrating belt
7< 3. Squats and pull-ups
/< 4. High-energy Aerobics routines

Question ID : 98958011600
Status : Answered
Chosen Option : 2

Comprehension:




Read the following passage and answer the questions given after it.

Sedentary lifestyles are killing us — we need to build activity into
our everyday lives, not just leave it for the gym. Google searches
relating to physical fitness peak in January. Many people even
trawl the web to find out about “desk exercises™ and “workouts on
the go” in case they are too busy to use their new gym
memberships.

Our relationship with exercise is complicated. Reports from the UK
and the US show it is something we persistently struggle with. As
the new year rolls around, we anticipate having the drive to behave
differently and become regular exercisers, even in the knowledge
that we will probably fail to do so. Why do we want to exercise?
What do we expect it to do for us? We all know we are supposed to
be exercising, but hundreds of millions of us can’t face actually
doing it. It is just possible that the problem lies at the heart of the
idea of exercise itself.

Exercise is movement of the muscles and limbs for a specific
outcome, usually to enhance physical fitness. As such, for most of
us, it is an optional addition to the working day — yet another item
on a long list of responsibilities alongside the fulfilment of parental
duties or earning money to put food on the table. But because the
principal beneficiaries of exercises are we ourselves, it is one of the
easiest chores to shirk. At the end of the working day, millions of
us prefer to indulge in sedentary leisure activities instead of what
we all think is good for us: a workout.

Fitness crazes are like diets: if any of them worked, there wouldn’t
be so many. CrossFit, the intensely physical, communal workout
incorporating free weights, squats, pull-ups and so forth, is still less
than 20 years old. Spin classes — vigorous group workouts on
stationary bikes — have only been around for about 30. Aerobics
was a craze about a decade before that, although many of its high-
energy routines had already been around for a while. Before that,
there was the jogging revolution, which began in the US in the
early 1960s. The Joggers Manual, published in 1963 by the Oregon
Heart Foundation, was a leaflet of about 200 words that sought to
address the postwar panic about sedentary lifestyles by
encouraging an accessible form of physical activity, explaining that
“jogging is a bit more than a walk™. The jogging boom took a few
years to get traction, hitting its stride in the mid- to late-80s, but it
remains one of the most popular forms of exercise, now also in
groups.

The exercise craze that dominated the 1950s was, oddly, not even
an exercise. The vibrating exercise belt promised users could
achieve effortless weight loss by having their midriffs violently
jiggled. It didn’t work, but you can still find similar machines
available for purchase today.

SubQuestion No : 160

%01 Why do Google searches related to physical fitness
peak in January?




Ans o 1. It is a common new year resolution.
/< 2. The cold weather encourages people to exercise.

/< 3. Tt is the time to renew gym membership.

/< 4. In the new vear people want to look slim and trim.

Question ID : 98958011601
Status : Answered
Chosen Option : 3

Comprehension:




Read the following passage and answer the questions given after it.

Sedentary lifestyles are killing us — we need to build activity into
our everyday lives, not just leave it for the gym. Google searches
relating to physical fitness peak in January. Many people even
trawl the web to find out about “desk exercises™ and “workouts on
the go” in case they are too busy to use their new gym
memberships.

Our relationship with exercise is complicated. Reports from the UK
and the US show it is something we persistently struggle with. As
the new year rolls around, we anticipate having the drive to behave
differently and become regular exercisers, even in the knowledge
that we will probably fail to do so. Why do we want to exercise?
What do we expect it to do for us? We all know we are supposed to
be exercising, but hundreds of millions of us can’t face actually
doing it. It is just possible that the problem lies at the heart of the
idea of exercise itself.

Exercise is movement of the muscles and limbs for a specific
outcome, usually to enhance physical fitness. As such, for most of
us, it is an optional addition to the working day — yet another item
on a long list of responsibilities alongside the fulfilment of parental
duties or earning money to put food on the table. But because the
principal beneficiaries of exercises are we ourselves, it is one of the
easiest chores to shirk. At the end of the working day, millions of
us prefer to indulge in sedentary leisure activities instead of what
we all think is good for us: a workout.

Fitness crazes are like diets: if any of them worked, there wouldn’t
be so many. CrossFit, the intensely physical, communal workout
incorporating free weights, squats, pull-ups and so forth, is still less
than 20 years old. Spin classes — vigorous group workouts on
stationary bikes — have only been around for about 30. Aerobics
was a craze about a decade before that, although many of its high-
energy routines had already been around for a while. Before that,
there was the jogging revolution, which began in the US in the
early 1960s. The Joggers Manual, published in 1963 by the Oregon
Heart Foundation, was a leaflet of about 200 words that sought to
address the postwar panic about sedentary lifestyles by
encouraging an accessible form of physical activity, explaining that
“jogging is a bit more than a walk™. The jogging boom took a few
years to get traction, hitting its stride in the mid- to late-80s, but it
remains one of the most popular forms of exercise, now also in
groups.

The exercise craze that dominated the 1950s was, oddly, not even
an exercise. The vibrating exercise belt promised users could
achieve effortless weight loss by having their midriffs violently
jiggled. It didn’t work, but you can still find similar machines
available for purchase today.

SubQuestion No : 161
Q.1




The sentence — “Exercise is movement of the
muscles and limbs for a specific outcome, usually to
enhance physical fitness™

Ans X 1. devalues exercise
< 2. defends exercise
/< 3. describes exercise

W 4 defines exercise

Question ID : 98958011602
Status : Answered
Chosen Option : 4

Comprehension:




Read the following passage and answer the questions given after it.

Sedentary lifestyles are killing us — we need to build activity into
our everyday lives, not just leave it for the gym. Google searches
relating to physical fitness peak in January. Many people even
trawl the web to find out about “desk exercises™ and “workouts on
the go” in case they are too busy to use their new gym
memberships.

Our relationship with exercise is complicated. Reports from the UK
and the US show it is something we persistently struggle with. As
the new year rolls around, we anticipate having the drive to behave
differently and become regular exercisers, even in the knowledge
that we will probably fail to do so. Why do we want to exercise?
What do we expect it to do for us? We all know we are supposed to
be exercising, but hundreds of millions of us can’t face actually
doing it. It is just possible that the problem lies at the heart of the
idea of exercise itself.

Exercise is movement of the muscles and limbs for a specific
outcome, usually to enhance physical fitness. As such, for most of
us, it is an optional addition to the working day — yet another item
on a long list of responsibilities alongside the fulfilment of parental
duties or earning money to put food on the table. But because the
principal beneficiaries of exercises are we ourselves, it is one of the
easiest chores to shirk. At the end of the working day, millions of
us prefer to indulge in sedentary leisure activities instead of what
we all think is good for us: a workout.

Fitness crazes are like diets: if any of them worked, there wouldn’t
be so many. CrossFit, the intensely physical, communal workout
incorporating free weights, squats, pull-ups and so forth, is still less
than 20 years old. Spin classes — vigorous group workouts on
stationary bikes — have only been around for about 30. Aerobics
was a craze about a decade before that, although many of its high-
energy routines had already been around for a while. Before that,
there was the jogging revolution, which began in the US in the
early 1960s. The Joggers Manual, published in 1963 by the Oregon
Heart Foundation, was a leaflet of about 200 words that sought to
address the postwar panic about sedentary lifestyles by
encouraging an accessible form of physical activity, explaining that
“jogging is a bit more than a walk™. The jogging boom took a few
years to get traction, hitting its stride in the mid- to late-80s, but it
remains one of the most popular forms of exercise, now also in
groups.

The exercise craze that dominated the 1950s was, oddly, not even
an exercise. The vibrating exercise belt promised users could
achieve effortless weight loss by having their midriffs violently
jiggled. It didn’t work, but you can still find similar machines
available for purchase today.

SubQuestion No : 162

Q1
62
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Which expression means the same as ‘an intense and
widely shared enthusiasm for something, especially
one that is short-lived; a craze.”

Ans  of 1. Fad

# 2. Phase

#< 3. Obsession
#< 4. Mania

Question ID : 98958011603
Status : Answered
Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
63 substitute it, select No substitution required.

A simple life of freedom and happiness is one of the more difficult thing to achieve.

Ans o 1 one of the most difficult things to achieve.
/< 2. one of the most difficult thing to achieve.
/< 3. No substitution required
/< 4. one of the more difficult things to achieve.

Question ID : 98958011559
Status : Answered
Chosen Option : 1

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
64 substitute it, select No substitution required.

We really need to look at interventions who focus in long-term weight management that can achieve sustained weight
loss at the recommended one to two pounds per week.

Ans X 1. whom focus on long-term
« 2. that focus on long-term
/< 3. that focus with long-term

/< 4. No substitution required

Question ID : 98958011561
Status : Answered
Chosen Option : 2

Q.1 Identify the segment in the sentence, which contains the grammatical error.
65
To be interested in the changing seasons is a happy state of mind than to be hopelessly in love with spring.

Ans  of 1. a happy state of mind
/< 2. hopelessly in love with spring
/< 3. To be interested
/< 4. in the changing seasons

Question ID : 98958011555
Status : Answered




l Chosen Option : 4 J

Q.1 Identify the segment in the sentence, which contains the grammatical error.

In 2016, after some unseemly back-and-forth to the Commons and Lords, it was decided that Acts of Parliament should
no longer be printed on calfskin.

Ans  of 1. to the Commons and Lords
/< 2. should no longer be printed on calfskin

/< 3. after some unseemly back-and-forth
< 4 it was decided

Question ID : 98958011552
Status : Answered
Chosen Option : 3

Q.1
o, Select the wrongly spelt word.

Ans X 1. frenzied
< 2. fractional
V' 3. furios
X 4 freeze

Question ID : 98958011596
Status : Answered
Chosen Option : 3

Q.1 : , e T
es Select the most appropriate word for the given group of words.

an arrangement of flowers that is usually given as a present
Ans o 1. bouquet

/< 2. bunch

< 3 wreath

X 4 cluster

Question ID : 98958011590
Status : Answered
Chosen Option : 3

Q.1 Select the most appropriate words to fill in the blanks.
69

Even on an overcast winter’s day. it is at least 10 times outside than in a standard office. By to work and
getting outdoors at lunchtime, we can begin to reconnect with the light.

Ans o 1. brighter; walking
/< 2. brightest; walking
/< 3. brighter; walk
/< 4. bright; walk

Question ID : 98958011564
Status : Answered




l Chosen Option : 1

361 Select the wrongly spelt word.
Ans 1. expenditure

« 2. exscitement

/< 3. eccentricity

/< 4. exclamation

Question ID : 98958011594
Status : Answered
Chosen Option : 2

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
71 substitute it, select No substitution required.

Just as technology has changed the way we shop, book a taxi, hold business meetings. and even find a parking spot, so
too is it transforming the way we accessed healtheare, wherever we are in the world.

Ans 3 1. so too was it transforming the way we accessed healthcare
/< 2. 50 too had it transformed the way we access healthcare
' 3. sotoo is it transforming the way we access healthcare

/< 4. No substitution required

Question ID : 98958011560
Status : Answered
Chosen Option : 3

Q'1 " - . . -
7, Select the most appropriate meaning of the given idiom.

put one’s cards on the table

Ans X 1. to be able to continue

/< 2. to deal a game of cards

' 3 to be honest
/< 4. to accept defeat

Question ID : 98958011584
Status : Answered
Chosen Option : 4

Q'1 - - ik . -
73 Select the most appropriate meaning of the given idiom.

It’s Greek to me
Ans o f 1. incomprehensible
/< 2. intangible
/< 3. inevitable
& 4 incredible




Question ID : 98958011586
Status : Answered
Chosen Option : 1

C;;: Select the antonym of the given word.
RESTRICTED
Ans  of 1. unbounded
X 2. barred
/< 3. unmanned
< 4 banned

Question ID : 98958011579
Status : Answered
Chosen Option : 1

Q.1 Select the most appropriate words to fill in the blanks.
75

For years Indians looking for meaty have been stuck with the soya nuggets.

Ans X 1. Substitutes: regional
« 2. substitutes; ubiquitous
/< 3. alternates; global

/< 4. alternative; zonal

Question ID : 98958011565
Status : Answered
Chosen Option : 1

Q.1
76

LYRICAL
Ans  of 1. musical
/< 2. overwhelming
# 3. brilliant
/< 4. prosaic

Select the synonym of the given word.

Question ID : 98958011573
Status : Answered
Chosen Option : 1

Q.1 A
7, Select the synonym of the given word.

CONTRAVENE
Ans x 1. brake

7< 2. broach

W 3 breech




< 4. flaunt

Question ID : 98958011576
Status : Answered
Chosen Option : 2

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
78 substitute it, select No substitution required.

It makes no difference to overall health whether vou lose weight slow or guick. according to new research by York
University.

Ans o 1. whether you lose weight slowly or quickly
/< 2. whether you lose weight slowly or quick
/< 3. whether you lose weight slow or quickly
/< 4. No substitution required

Question ID : 98958011557
Status : Answered
Chosen Option : 1

Q.1 E ; e 1
79 Select the most appropriate word for the given group of words.

a table or flat surface where offerings are made to a deity
Ans 1. pew

< 2. sanctorum

X 3. stone

W 4 altar

Question ID : 98958011588
Status : Answered
Chosen Option : 4

Q.1 -
g0 >elect the antonym of the given word.

COMPROMISE
Ans 1. treaty
W 2 dissent

/< 3. agreement

/< 4. disturbance

Question ID : 98958011582
Status : Answered
Chosen Option : 2

Q_1 . " " " ogn
a1 Select the most appropriate meaning of the given idiom.

to give someone the cold shoulder

Ans X 1. deny someone comforting clothes




2 ignore or show indifference

< 3. serve cold meat to someone
/< 4. bury someone in freezing cold

Question ID : 98958011587
Status : Answered
Chosen Option : 2

Q.1 Select the most appropriate word for the given group of words.
82

a person who has an unnatural anxiety about one’s own health typically involving imagined symptoms of illness.

Ans % 1. nymphomaniac

/< 2. psychotic
X 3. neurotic
« 4 hypochondriac

Question ID : 98958011591
Status : Answered
Chosen Option : 4

Q.1 E - e 1
a3 Select the most appropriate word for the given group of words.

a person who advocates complete political or social change

Ans o 1. radical
X 2. leader
& 3. fanatic
/< 4 hero

Question ID : 98958011589
Status : Answered
Chosen Option : 3

Q.1 Select the most appropriate words to fill in the blanks.

People from societies go to bed and wake up several hours earlier than people in countries do and seem
to sleep better than the

Ans o 1 traditional; developed; latter
/< 2. traditional; developed: later
/< 3. modern; undeveloped: later

/< 4 modern ; developed; latter

Question ID : 98958011562
Status : Answered
Chosen Option : 1

Q.1 Select the most appropriate words to fill in the blanks.

At the back of the eye there are light-sensitive which connect to a small patch of brain tissue. They also
to areas of the brain that mood and alertness.




Ans 5 1. cells; link; adjust
/< 2. cells; join: adjust
W 3 cells; link; regulate
< 4. muscle: link: regulate

Question ID : 98958011563
Status : Answered
Chosen Option : 3

Q.1 Identify the segment in the sentence, which contains the grammatical error.
86

It seems that authors’ creativity is not restrict to their work and happily overflows into their names too.

Ans 3 1. happily overflows
/< 2. authors’ creativity
/< 3. into their names too
o 4 restrict to their work

Question ID : 98958011554
Status : Answered
Chosen Option : 1

Q.1
a7 Select the wrongly spelt word.

Ans X 1. ecstatic
X< 2. extensive
/< 3. extortion

W 4 existensial

Question ID : 98958011597
Status : Answered
Chosen Option : 4

Q) Select the wrongly spelt word.
Ans - X 1. admiration

' 2. adreneline

X 3. adroit

#< 4 administration

Question ID : 98958011593
Status : Answered
Chosen Option : 2

QA1

g9 Select the antonym of the given word.

PERPETRATE

Ans 1. commit




/< 2. perpetuate
/< 3. react
o 4. prevent

Question ID : 98958011581
Status : Answered
Chosen Option : 4

Q.1 - - ik . -
oo Select the most appropriate meaning of the given idiom.

get a taste of your own medicine

Ans X 1. make, taste and take medicines for others
/< 2. be treated by the same doctor

/< 3. be given the medicine meant for others

« 4. be given the same treatment that you have given to others

Question ID : 98958011583
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

A massive fire in Chennai destroyed 184 cars (1) to a private
cab aggregator. (2) blaze is suspected to have been triggered (3)
tall dried grass caught fire from a discarded (4) cigarette

butt, said a rescue services (5)

SubQuestion No : 191

Q.1 - . -

i IS%:[elel{:?t the most appropriate option to fill in blank
o.1.

Ans 1. belonged

« 2. belonging

/< 3. belongs

/< 4. were belonging

Question ID : 98958011568
Status : Answered
Chosen Option : 2

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

A massive fire in Chennai destroyed 184 cars (1) to a private
cab aggregator. (2) blaze is suspected to have been triggered (3)
tall dried grass caught fire from a discarded (4) cigarette

butt, said a rescue services (5)

SubQuestion No : 192

3'21 Select the most appropriate option to fill in blank
No.2.
Ans X 1. Some
o 2 The
X3 A
< 4 One

Question ID : 98958011569
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

A massive fire in Chennai destroyed 184 cars (1) to a private
cab aggregator. (2) blaze is suspected to have been triggered (3)
tall dried grass caught fire from a discarded (4) cigarette

butt, said a rescue services (5)

SubQuestion No : 193

Q. Select the most appropriate option to fill in blank
No.3.
Ans X1 until
< 2 of
v 3 after
X< 4 by

Question ID : 98958011570
Status : Answered
Chosen Option : 4

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

A massive fire in Chennai destroyed 184 cars (1) to a private
cab aggregator. (2) blaze is suspected to have been triggered (3)
tall dried grass caught fire from a discarded (4) cigarette

butt, said a rescue services (5)
SubQuestion No : 194

3'41 Select the most appropriate option to fill in blank
No.4.

Ans 5 1 lighting

« 2. smouldering

/< 3. firing

/< 4 smoking

Question ID : 98958011571
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

A massive fire in Chennai destroyed 184 cars (1) to a private
cab aggregator. (2) blaze is suspected to have been triggered (3)
tall dried grass caught fire from a discarded (4) cigarette

butt, said a rescue services (5)

SubQuestion No : 195

Q1 . . .
o5 Select the most appropriate option to fill in blank
No.5.

Ans 5 1. culprit

X 2. victim

/< 3. special

W 4 official

Question ID : 98958011572
Status : Answered
Chosen Option : 4

Q.1

os Select the synonym of the given word.

MEMOIR
Ans 5 1. anecdote

/< 2. story




v &) diary
/< 4. episode

Question ID : 98958011575
Status : Answered
Chosen Option : 3

Q.1 Identify the segment in the sentence, which contains the grammatical error.

97
Though paper has been the dominant medium for print, the British parliament had managed valiantly to hold back the

paper tide for over half a millennium.

Ans 1. the dominant medium for print
/< 2. Though paper has been

/< 3. to hold back the paper tide

« 4 Parliament had managed

Question ID : 98958011553
Status : Answered
Chosen Option : 4

Q.1 Select the most appropriate words to fill in the blanks.
98

Telemedicine is the delivery of clinical services across and IT devices. It’s a subset of a wider care
originally developed for doctors to be able to patients living in rural and remote areas.

Ans X 1. telephones; actual; discharge
< 2. telecom; visual; admit

W 3. telecoms; virtual; treat

/< 4. telephone; virtual; diagnose

Question ID : 98958011566
Status : Answered
Chosen Option : 2

Q.1 Identify the segment in the sentence, which contains the grammatical error.

The Natural History of Selborne, records the importance of the earthworm to soil and describe an England unspoiled by
the Industrial Revolution-

Ans  of 1. describe an England
/< 2. of the earthworm to soil
/< 3. records the importance
/< 4. unspoiled by the Industrial Revolution

Question ID : 98958011556
Status : Not Answered
Chosen Option : --

Q.2
0o Select the wrongly spelt word.
Ans % 1. indigenous

/< 2. engraving




/< 3. ingratitude
W 4 ingredeints

Question ID : 98958011595
Status : Answered
Chosen Option : 1




